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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Mechanical Measurement
Subject Code: 2TE04AMMT1 Branch: Diploma (Mechanical)
Semester: 4 Date: 26/04/2018 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Four answers of a question are given below the question. Select appropriate
answer from the options - a, b, ¢, and d.
Vernier caliper is used to measure
(@ Thickness (b) depth (c) diameter (d) all of above
The smallest measurement that can be recorded accurately with an instrument is
b) called
€)) Leastcount (b) zeroerror (c) precision (d) accuracy
In micrometer, circular scale is marked on
) (@ Ratchet (b) sleeve (¢) stud  (d) thimble
A sine bar is a tool used to measure
(@ Length (b) diameter (c) thickness (d) angle
Dial indicator can used only to determine
e) (a) The actual size of part (b)  the maximum size of part
(c) The minimumsize of part  (d) the variation in part
linear uniformity of a work surface measurement from an external reference line is
f) called
(@) Straightness (b) flatness (c)  squareness (d)  roundness
Which of the following is not a type of non-destructive testing
g) (a) compressive testing (b)  visual testing
(c) ultrasonic testing (d) all of above
In which type of test the capillary action principle is used?
h) (a) probetest (b) Dye penetratetest (c) torsiontest (d) visual
test
i Lobbing is irregularity of
(@) flatness  (b)  squareness (© roundness  (d)  straightness
Tomilson surface meter is used to measure
. (@  major diameter of external thread (b) gear tooth profile
) (c)  minor diameter of external thread (d)  surface roughness

Flank angle is equal to thread angle
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Which type of gears is used to transmit power at an angle of 90°
(@)  spur gear (b) Bevel gear
(¢) rack and pinion (d)  worm and warm wheel
is equal to the difference of the two limits of size of the part
@ lowlimit (b) highlimit (c) designsize (d) tolerance
Module M =
@ D/IN (b) N/D (c) both(a)and(b) (d) none of one

Attempt any four questions from Q-2 to Q-8

Q-2

Q-5

Q-6

Q-7

u.1

a)
b)
)

a)
b)
c)

d)

a)

Describe the differences between centralized and decentralized inspection.
Explain wringing method of slip gauges.

Select proper slip gauge for following dimensions.

(1) 89.7895 (2) 44367 (3) 93.8995 (4) 33.478

Explain working principle of vernier caliper with neat sketch.

List the types of micrometers.

Write precautions to be taken while using dial indicator and also state its
applications.

Explain working principle of sine bar with neat sketch.

Write name of straightness testing methods and explain wedge method with
sketch.

Explain high spot method of flatness testing.

Explain optical method of flatness testing.

Explain surface irregularities.

Explain profilograph.

Explain method of checking eccentricity of spur gear teeth with axis of rotation.
Explain types of gears.

Explain wire method for measurement of effective diameter for external thread.
Give the difference between measurement and gauging.
List the types of various gauges.

Explain and classified the transducer.
Explain principle and working of thermistor and also state its advantages and
applications.

Write the name of destructive and nondestructive testing methods.
Give the difference between destructive and nondestructive testing.
Explain magnetic particle test with neat sketch.
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